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24 x20% = 76 % 70% =
33 x 50% = 67 x30% =
28 x 80% = 42 x 90% =
44 < 10% = 99 x 80% =
59 x 10% = 82 x 10% =
28 x20% = 43 x 10% =
59 x 80% = 55 x50% =
25 x90% = 76 x 50% =
88 x 30% = 64 < 90% =
55 x50% = 79 x20% =
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Beregn prosentandel av tall

StudentName:

24 x20% = 4.8

33 x50% = 16.5

28 x 80% = 22.4

44 x 10% = 4.4

59 x10% =59

28 x20% = 5.6

59 x 80% = 47.2

25 x90% = 22.5

88 x30% = 26.4

55 x50% = 27.5

ExamDate:

76 x 70% = 53.2

67 x 30% = 20.1

42 x90% = 37.8

99 x 80% = 79.2

82 x 10% = 8.2

43 x 10% = 4.3

55 x50% = 27.5

76 x 50% = 38

64 x 90% = 57.6

79 x20% = 15.8
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